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Trigonometric Equations Quiz

Pre-Calculus 12

Non-Calculator Questions _
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2. Find the general solution to sin nx = cos nx. In the answers, n is an integer.
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3. What is the general solution to x sindx =0 ? In the answers, n is an integer.
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4. Solve exactly: cos 3x =0, where 0 < x < 2rn
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5. Solve exactly: cos x =+/3 — cos x,
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s 6. Solve exactly: sin2x—sin x= 0, “where0 <x<2n
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7. Solve exactly: tan2? x=tan x, where0 <x<2n
tan*x - tanx =0 @qf
ol T
O fanx (fanx-iFo ki b A
, lonx=0 oy Tanx-[=0 5
' 2 5
® ><=O)’IYJ tanx=1 > IX_/A). }ZI
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Calculator Question
9. Solve to two decimal places: sin x = 0.34 where 0 <x<2n
(Hint: There are two answers.)
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